


 

 

Violent installation is prohibited

Eine gewaltsame Installation ist verboten.
Interdiction des installations violentes

If you need help, please contact us

Bitte kontaktieren Sie uns, wenn Sie Hilfe brauchen.
Veuillez contacter notre SAV en cas de questions

Multi-person cooperation is recommended

Der Zusammenbau sollte durch mindestens zwei Erwachsene erfolgen.
Au moins 2 personnes seront nécessaires pour l'assemblage

2/12



 3/12

1
 x 2

2
 x 2

3
 x 2

4
 x 2

5
 x 4

6
 x 2 7

 x 24
8

 x 2

9
 x 2

10
 x 1

11
 x 2

12
 x 2

13
 x 2

14
 x 1

15
 x 1

16
 x 2

17
 x 4

18
 x 4

19
 x 4

short

mid

long



 4/12

F

M

  x 1
14

 M8x14
  x 2

 M8x16
  x 1

 M8x37
  x 2

 x 12  x 24
H I

UK:power cordv
DE:Netzkabel
FR:Cordon d' alimention

UK:LED light strip electronic accessories list
DE:Zubehörliste der LED-Lichtleiste
FR:Liste des accessoires pour ruban LED

UK:There is a two-dimensional code at the position of the
power line.Scanning can download the APP for the
control light
DE:Scannen Sie den QR-Code auf dem Adapter und laden Sie die
       APP zum Einstellen der Beleuchtung herunter.
FR:Veuillez scanner le code QR sur le cordon d'alimentation
      et télécharger l'APP pour contrôler le ruban LED

UK:STANDBY 
DE:Ersatzteilliste
FR:Liste des pièces
de rechange

UK:Remote control
DE:Fernbedienung
FR:Télécommande

UK:Unplug the battery separatorof the remote control before use
DE:Entfernen Sie vor dem Gebrauch die Kunststoffplatte der
       Fernbedienung.
FR:Retirez la languette isolante en plastique des piles avant
      d'utiliser la télécommande



19 x4

5

5

5

5

x247

8

8

12

13 x2

14
 x 1

15  x 1

16

16

18

18

18

18

9

12

2

2

UK:Before starting the assembly,
you must read the whole
manual and follow
the instructions
DE:Lesen Sie vor der Montage die Anleitung
aufmerksam durch und befolgen Sie streng
die Anleitung.
FR:Veuillez lire attentivement le
manuel et puis bien suivre les
instructions pour l'assemblage

UK:Note:
1.should be assembled on flat ground to keep balance.
2.Before completing the installation,do not tighten the screws.
DE:Anmerkung:
1.Die Montage des Produktes muss auf ebenem Untergrund durchgeführt werden, um das Gleichgewicht zu halten.
2.Ziehen Sie die Schrauben bitte zuerst nicht an, bevor Sie die Montage abschließen.
FR:Note :
1.Veuillez l'assembler sur un sol plat pour maintenir l'équilibre
2.Ne serrez pas les vis avant la fin d' installation

UK:It needs at least
two people to install.
DE:Es wird empfohlen,
dass mindestens zwei
Erwachsene das Produkt installieren.
FR:Il faut au moins
Deux personnes à installer.



9

19

9

A

19

6

1

 6/12

A    M8x14
x12

A

A

19

3

A    M8x14
x8

x2

1

4
A

A x2
2

80%

80%



3

 7/12

C    M8x37
x4

x2
C    M8x374

10

11

x2

10

8

8

8

C

16

12

100%

100%



x166

A    M8x145

A    M8x14

x8

 8/12

A

1

19

4

1

4

3

3

6

6

A A

17

80%

100%



7

 9/12

D    M8x55
x4

D

18

E

x 4
B    M8x17

B

8

8

8

8

100%

80%



9

 10/12

10

x 4
B    M8x16

B

B

912

I

C
C

12

12

12

12

10

8

8

10

C    M8x37
x2

II

5

 x 24IIx4
7

80%



11

 11/12

12

C    M8x37
x12

C

x6

C

 x 12
H

7

8
H

7

7

100%

I

I I

I I I

UK:After installation,
check if the screws
are tightened and
tighten the screws
that are not tightened

DE:

FR:



13

 12/12

14
UK:One side of the light bar is the luminous surface, and the other side is the velcro tape.
DE:Die Rückseite der Lichtstreifen ist mit einem Klettband versehen, um die Montage zu erleichtern.
FR:La bande LED est équipée de velcro autocollant à l'arrière

I

I I

13


